6. 4 Completing the Square Day 2
I. Completing the Square (when $a=1$ of $a x^{2}+b x+c=0$ )

$$
\begin{aligned}
& \text { EX 1. } \mathrm{x}^{2}+8 \mathrm{xx}-20=0 \mathrm{OL} \\
& \begin{array}{l}
\text { EX 1. } x^{2}+8 x-20=0 \\
x^{2}+8 x+\frac{16}{c}=20+16
\end{array} \\
& \text { EX } 2 . x^{2}+4 x-12=0 \\
& (x+4)(x+4)=36 \quad(x+2)(x+2)=16 \\
& \sqrt{(x+4)^{2}}=\sqrt{36} \\
& \sqrt{(x+2)^{2}}=\sqrt{16} \\
& \left.\begin{array}{l}
x+4= \pm 6^{-4} \\
x=-4 \pm 6, ~(x=2 \\
x=-10
\end{array}\right) \\
& x+2= \pm 4 \\
& x=-2 \pm 4, \begin{array}{l}
x=-6 \\
x=2
\end{array} \\
& \text { II. Completing the Square (when } a \neq 1 \text { of } a^{2}+b x+c=0 \text { ) } \\
& \text { EX } 3 . \frac{2 x^{2}}{2}-\frac{6 x}{2}-\frac{2}{2}=\frac{0}{2} \quad\left(E X 4 \cdot \frac{2 x^{2}}{2}-\frac{5 x}{2}-\frac{3}{2}=\frac{0}{2}\left(\frac{1}{2}(2.5)=1.25^{2}\right.\right. \\
& x^{2}-3 x-1=0 \quad x^{2}-\frac{5}{2} x+\frac{3}{2}=0=1.565 \\
& x^{2}-3 x+2.25=1+2.255 x^{2}-2.5 x+1.565=1.5+1.565 \\
& \frac{1}{2} \cdot 3=1.5^{2}(x-1.5(x-1.5)=3.25 \\
& (x-1.25)(x-1.25)=.0625 \\
& =2.25 \quad \sqrt{(x-1.5)^{2}}=\sqrt{3.25} \\
& \sqrt{(x-1.25)^{2}}=\sqrt{.0625} \\
& x-1.5= \pm \sqrt{3.25} \quad x-1.25= \pm .25 \\
& x=1.5 \pm \sqrt{3.25} \quad \begin{array}{l}
x=1.25 \pm .25 \\
x=1.5 \\
x=1
\end{array}
\end{aligned}
$$

III. Equation with Complex Solutions

EX 5. $x^{2}+4 x+11=0$


$$
(x+2)(x+2)=-7
$$

$$
\sqrt{(x+2)^{2}}=\sqrt{-7} \rightarrow i \sqrt{7}
$$

$$
x+2= \pm i \sqrt{7}
$$



EX 6. $x^{2}+2 x+3=0$



